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N1 1ka/10a 7/15 8/4 (2005)
(2005)
1 m?
(cm) (cm) (kg/10a) NO  ( /m) () (%) =100 (9) (%)
NO 90 184 603 (100) 348 90 86 320 20.8 05 6.3
NI 90 192 623  (103) 360 91 83 327 213 (05) 10 64 (0.1)
[ ] N2 92 195 631  (105) 372 91 85 334 215 (08) 15 66 (0.3)
N3 93 200 633  (105) 386 91 84 351 216 (0.8) 20 6.8 (0.5)
NO 79 180 500 (100) 286 73 91 209 21.0 0.0 5.7
N1 80 181 512  (102) 292 76 90 223 212 (02) 05 57 (0.0)
N2 82 183 552  (110) 315 83 90 261 213 (04) 05 58 (0.1)
N3 83 187 576  (115) 328 84 92 289 216 (0.7) 10 6.0 (0.3)
1kg/10a
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